Examination Questions
Describe the stages of the fetch-decode-execute cycle. [4]
· Contents of program counter passed to memory address register.
· Program counter incremented.
· Memory read signal sent on control bus.
· Contents of address (instruction) sent down the data bus…
· …into memory data register and into current instruction register
· Instruction is decoded by the decode unit.
· Data travels down data bus into the memory data register…
· …and accumulator.
· Instructions are executed on accumulator and memory data register by the arithmetic logic unit.

Increasing the number of cores affects the performance of the CPU.  Explain why this increase in performance is not linear. [2]
· Increasing the number of cores increases the complexity of the control unit.
· May spend more time farming work to processors than processing for simple instructions.
· Many other factors to consider, e.g. cache.

State the purpose of the address bus [1]
· To carry the address of the instruction or data from the CPU to the memory

Name one register other than the PC found in the CPU and describe its purpose [2]
· Memory address register: stores the address of the instruction or data to fetch.
· Memory data register: stores the data to/from the data bus to send to the CIR/RAM
· Current instruction register: stores the current instruction being decoded and executed.
· Accumulator: stores the result of arithmetic.

Explain why the Little Man Computing (LMC) instructions BRA / BRP would cause the contents of the PC to change. [2]

· BRA ad BRP are branching instructions, equivalent to IF, FOR, WHILE in a high level language.
· [bookmark: _GoBack]They change the flow of the program, so the next instruction is not always executed.

